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Therelare four main time zones in USA. We have; the Pacific, Mountain, Central and

Eastern time zones.

If it is2 PM in the Pacific time zone, it will be 3 PMin the Mountain time zone, 4 PM

in the Central time zone and 5 PM in the Eastern tome zone.

What time is itlin the Mountain time zonelif it is 5:00 PM in the Pacific time zone?

What time is it in the Eastern time zone if it is 7:00 AM in the Central timel zone?

What time is it in the Pacific time zone if it is 1:00 AM in the Eastern time zone?

What time is itlin the Central time zone iflit is 2:00 PM in the Pacific time zone?

© http://mathskills4kids.com




nathskils 2 ki
Name: oo Class: o
—( Times Zones >—
There are four main time zones in USA. We have: the Pacific, Mountain, Ce{ntral and
astern time zones.
fitis 2 PMin the Pacific time zone, it willbe 3 PM in the Mountain time zone, 4 PM
n the Central time zone and 5 PM in the Eastern tome zone.
What time is it in the Mountain time zone|if it is 5:00 PM in the Pacific time zone?
We know that, the mountain/time zonelis 1 hour ahead of the pacific time zone
o to get the time in the Imountain time zone given the pacific time
we have to add 1 hour to 5:00 P
5:00 PM +1 hour = 6:00 PM
So, itis 6:00 PMin the mountain time zone
What time is it in the Eastern time zone if it is 7:00 AM in the Central time zone?
We lknow that, the Eastern time [zone is 1 hour ahead of the central time zone
o to get the time in the Eastern time zone given the|central time
we have to add 1 hour to 7:00 AM
7:00 AM +1 hour = 8:00 AM
So, it is 8:00 AM in the Eastern time zone
What time is itin the Pacific time zone if it is :00 AM in the Eastern time zone?
We know that, the Pacific time zone is 3 hours behind the Eastern time/zone
o to get the time in the |[Eastern time zone given the|pacific/ time
we have to subtract 3 hours from 1:00 AM
1:00 AM - 3 hours = 10:00 PM
So, it]is 10:00 PM in/the Eastern time zone
What time is it in the Central time zone if it is 2.00 PM in the Pacific time zone?
We know that, the Pacific time Zone is 2 hours behind the Central time zone
So to get the time in the Central time zone given the padificltime
we have to subtract 2 hours from 2:00 PM
:00 PM - 2 hours =12:00 PM
Solit is 12400 PM in the Central time zone ._ |
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